
©G Q2i0U1h3f SKjuHtBaV vSDolfMt9wyaZrYec ML5LGCx.d h NAelUl2 VrkiUgEhCtHs0 ArGessieorJvFe3dW.W 9 fMZawdnex 0wsiCt2hX JI DnpfuirnwiPtxec 8Aqlkg6eObtr9a4 T2x.Y Worksheet by Kuta Software LLC

Algebra 2
ID: 1

Name___________________________________

  Period____Date________________
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9.3

Factor each.

1)  

   

x3 − 64 = 0 2)  

   

x3 + 27 = 0

3)  

   

x2 − 2

  

x − 8 = 0 4)  

   

x4 + 5

  

x3 + 4

  

x2 = 0

5)  

   

x4 + 2

  

x2 − 3 = 0 6)  

   

x3 − 6

  

x2 + 8

  

x = 0

7)  

   

x3 − 

  

x2 − 20

  

x = 0 8)  

   

x4 − 13

  

x2 + 42 = 0

9)  

   

x3 − 

  

x2 + 5

  

x − 5 = 0 10)  

   

x4 − 3

  

x2 − 18 = 0

11)  

   

x4 − 9

  

x2 + 18 = 0 12)  

   

x4 + 5

  

x2 + 6 = 0

13)  

   

x4 + 

  

x3 + 4

  

x2 + 4

  

x = 0 14)  

   

x4 − 8

  

x2 + 12 = 0

15)  

   

x3 + 2

  

x2 − 3

  

x = 0
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Answers to 9.3 (ID: 1)

1)  

 

(

   

x − 4)(

   

x2 + 4

  

x + 16) = 0 2)  

 

(

   

x + 3)(

   

x2 − 3

  

x + 9) = 0 3)  

 

(

   

x + 2)(

   

x − 4) = 0
4)  

   

x2(

   

x + 1)(

   

x + 4) = 0 5)  

 

(

   

x − 1)(

   

x + 1)(

   

x2 + 3) = 0 6)  

   

x(

   

x − 4)(

   

x − 2) = 0
7)  

   

x(

   

x + 4)(

   

x − 5) = 0 8)  

 

(

   

x2 − 7)(

   

x2 − 6) = 0 9)  

 

(

   

x − 1)(

   

x2 + 5) = 0
10)  

 

(

   

x2 + 3)(

   

x2 − 6) = 0 11)  

 

(

   

x2 − 3)(

   

x2 − 6) = 0 12)  

 

(

   

x2 + 3)(

   

x2 + 2) = 0
13)  

   

x(

   

x + 1)(

   

x2 + 4) = 0 14)  

 

(

   

x2 − 6)(

   

x2 − 2) = 0 15)  

   

x(

   

x − 1)(

   

x + 3) = 0


